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R4(config)#ipv6 unicast-routing
R4(config)#interface serial 1
R4(config-if)#ipv6 address 2001:24::4/64
R4(config-if)#no sh
R4(config)#interface loopback 0
R4(config-if)#ipv6 address 2001:4::4/64
R4(config-if)#no sh

R2(config)#ipv6 unicast-routing
R2(config)#interface serial 1
R2(config-if)#ipv6 address 2001:24::2/64
R2(config-if)#no sh

R2(config-if)#clock rate 64000
R2(config)#interface serial 0
R2(config-if)#ipv6 address 2001:12::2/64
R2(config-if)#no sh

R2(config-if)#clock rate 64000

R1(config)#ipv6 unicast-routing
R1(config)#interface serial 0
R1(config-if)#ipv6 address 2001:12::1/64
R1(config-if)#no sh

R1(config)#interface loopback 0
R1(config-if)#ipv6 address 2001:1::1/64
R1(config-if)#no shutdown
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R4#ping 2001:4::4

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 2001:4::4, timeout is 2 seconds:
Success rate is 100 percent (5/5), round-trip min/avg/max = 4/6/8 ms
R4#ping 2001:24::2

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 2001:24::2, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/max = 32/32/32 ms




R2#ping 2001:24::4

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 2001:24::4, timeout is 2 seconds:
Success rate is 100 percent (5/5), round-trip min/avg/max = 32/32/32 ms
R2#p 2001:12::1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 2001:12::1, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/max = 28/31/32 ms

R1#p 2001:1::1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 2001:1::1, timeout is 2 seconds:
Success rate is 100 percent (5/5), round-trip min/avg/max = 4/4/4 ms
R1#p 2001:12::2

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 2001:12::2, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/max = 28/30/32 ms
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R4(config)#ipv6 route 2001:1::/64 2001:24::2
R4(config)#ipv6 route 2001:12::/64 2001:24::2
R2(config)#ipv6 route 2001:4::/64 2001:24::4
R2(config)#ipv6 route 2001:1::/64 2001:12::1
R1(config)#ipv6 route 2001:24::/64 2001:12::2
R1(config)#ipv6 route 2001:4::/64 2001:12::2
NIRATHERAEH PING iy 2% 8 1%
R4#ping 2001:1::1
Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 2001:1::1, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/max = 60/63/64 ms

Rl#ping 2001:4::4
Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 2001:4::4, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/max = 60/63/64 ms
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